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Speed and Distance of Train

INTRODUCTION

In this chapter, we deal with the relative speeds of
trains. This is a special case of topic “Time and
Distance”. Before proceeding further, we will go
through important points as follows.

SOME IMPORTANT POINTS

1. When two trains are moving in opposite
directions, their speeds should be added to find the
relative speed.

e.g. Let two trains are moving at a speed of a km/hr
and b km/hr in opposite direction, then their
relative speed is given by = (a + b) km/hr.

2.When two trains are moving in same direction, the
relative speed is the difference of their Speeds.

e.g. Let two trains are moving at a speed of a km/hr
and b km/hr in same direction, where a > b, then the
relative speed is given by = (a = b) km/hr.

3.When two trains of length 1, and 1, respectively,
moving in opposite direction at speed a km/hr and b
km/hr respectively crosses each other, then time
taken by train to cross is given by

= (lle) hrs

a+b

" Distance
{+-Time =

Speed

4. Similarly, when two trains of length 1; and I,
moving in the same direction at speed a km/hr and
b Km/hr respectively, where a >b, then time taken
by faster train to cross the slower train is given

By = (%) hrs

5. If a train of length 11 metres crosses an object of
length x metres, then distance covered by train is
Given by = (11 + x) metres

6. To pass a fixed object (post, pole or man etc.), the
distance covered by train is equal to its own Length.

Q.1. Express 30 km /h into m/s?

m/s 1 30 km/h & oF &,z S8
a)3/25m/s b)25/3m/s
c) 36 m/s d) 24 m/s

Q.2. Express 110 / 3 m/s into km/h

110 /3 m/s &= km/h rf o5 D) Srol
a)134km/h b) 150 km/h
c)145km/h d)132km /h

Q.3. A train moves with a speed of 108 kmph. Its
speed [ meters per seconds is

20T Byen roedrt 108 dcbe Sendd BODIT. 2B
Sert IB08R I eest’ oy H3as?

a) 10.8
c) 30

b) 18
d) 38.8

Q.4. A speed of 14 meters per second is the same as?

38 308 14 cbeest® Jendy odemen wodde
sNH3TS?

a) 28kmph b)46.6 kmph

) 50.4 kmph d) 70 kmph

Q.5. A train 100 m long is running at the seed of 30
km/hr. Find the time taken by it to pass a man
standing near the railway line.

100 che evgdd Byen 30 3cbe / o Bendd LWET.
By &0 Srted WP oSS 22, B3oH), T @eerien
D SrichEeond JDaLBY, BowHBD

A)11 sec
c) 12 sec

b) 8 sec
d) 4.16 sec

Q.6. A train which is 200m long is running at the
speed of 60 km/hr. Find the time taken to pass a man
standing at the railway station?

200 e eV Syew rtoedrt 60 Scbe BenBO BODST.
B¢, AUREBY 03B w2), BB T @D
BrichEeod FeHahED, BoeBA? Pa
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a) 11 sec
c) 12 sec

b) 8 sec
d) 4.16 sec

Q.7. In what time will a train 100 meters long cross
an electric pole, if its speed be 144 kmph?

100 cbeeso Cilala) déw oo ran)o:bdeQ cf)d)zsa‘

B0, DLW, VBT ert Hoedrt 144 3e 8NFT?

b) 4.25 seconds
d) 12.5 seconds

a) 2.5 seconds
c) 5 seconds

Q.8. A train running at the speed of 60 kmph crosses
a pole in 9 seconds. What is the length of the train?

Roedrt 60 e FeriTd WO Ty 9 FZoTrve

BowdRY, DtnBW. TiOT vy oF)?

A)18km/h  b)12km /h
©)15km/h  d)24km/h

Q. 9. A train 132 m long passes a telegraph pole in 6
seconds. Find the speed of the train?

132 e gda déo.) 6 JBoRriYe B8Om,a* BowaY
TR BREMHIT. déef)s Sena=, 8o HBALO.

a) 70 kmph
¢) 79.2 kmph

b) 72 kmph
d) 80 kmph

Q.10. A train is moving at a speed of 132 kmph. If the
length of the train is 110 meters, how long will take
to cross a railway platform 165 meters 165 meters
long?

2,08 Syew Roedrt 132 dche Sendd BODIT. 3,03
eugd 110 cbeeso® sABTB, 165 eest® 165 ceeso
Uilala) dée‘ij DIEFHOE eaag Dot o), Jhab

BRBRYIE?
a) 7.5sec b) 7 sec
c) 9 sec d) 12 sec

Q.11.How long does a train 110 meters long running
at the speed of 72 kmph take to cross a bridge 132
meters in length?

72 3oe deﬁdg 110 ee3o® ilala o”éw 132 eeso®

gd JeIob, weww o) — IJob
B3R RSE?

a) 9.8sec b) 12.1 sec

c) 12.42 sec d) 14.3 sec

Q.12.A train 360 m long is running at a speed of 45
kmph. in what time will it pass a bridge 140 m long?

360 che VBB Fyew 45 e SenBO BODI3. adreds
JDDBY e 140 e FB  IFeDSBALD,

BB BRENHIT?
a) 40 Sec b) 42 sec
c) 45 sec d) 48 sec

Q.13:A'train 800 meters long is runningat a speed
of 78 kmph. If it crosses a tunnel in, [ minute, then
the length of tunnel (in meters) is :

800 cheeso® eugdd Byen 78 dcbe Bendd BODIT.
T DTN, TE3BT, TP AL, S083 DJond

VT (cDee3TTIHY) B0t &HBAD.
a) 130 b) 360
¢) 500 d) 540

Q.14. A train 150m long is running with a speed of 68
kmph. In what time will if pass a man who is running
at 8kmph in the same direction in which the train is
going?

150 ce evg3 Syen roedrt 68 de Benttdd) BODET.
noedr 8 3de Bendd LEIHS 3o, Tyewn areds
83,30 TerbSdalee vl B3I Howh BeWT cdredd
JHabh3O?

a) 12sec
€) 9 sec

b) 10 sec
d) 8 sec

Pa
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Q.15. A train which is a length of 110 meters
travelling with a speed of 60 kmph. In what time it
passes the man who is running with 6 kmph in same
direction?

110 eest® euZIDHE Fyewn roedrt 60 e Serndd

BODIT. wrie B roert 6 3cbe Serd LEHIH3
B, 300y 0398 FDADBO D ERErHIH?

a) 12/3sec b) /3 sec
c) 22/3 sec d) 18/3 sec

Q.16. A train 125 m long passes a man, running at 5
kmph in the same direction in which the train is
going, in 10 seconds. The speed of the train is :

125 e Cilala) déoo d)ai)aéasag T @RerH3IT, déo.)
03roa3 83,30 Terbwalee edde B3I Roedrt 5 3cbe
Sendd 10 JBonvd wWODSE. O3  Serd

8o HBAO

a) 45 kmph
¢) 54 kmph

b) 50 kmph
d) 55 kmph

Q.17. A train 220 m long is running with a speed of
59 kmph. In what time will it pass a man who is
running at 7kmph in the direction opposite to that in
which the train is going?

220 Qe euga Byen Roedrt 59 dcbe Sersd BODIST.
S0 Beerdd B33 DG BRI rotdrt 7 dcbe
Sendd LIDIDS B3, ed ded ISP
TR BREHIT?

A)12 sec
c) 9 sec

b) 10 sec
d) 8 sec

Q. 18. A train which is a length of 110 meters
travelling with a speed of 60 kmph. In what time it
passes the man who is running with 6 kmph in
opposite direction?

60 3e derﬁde.‘)m B30I 110 ee3o Upila i) 6éw.
c:)d)Cg 83,39 6 3be Bernd LW EHT dzséo:bﬁg( ooz

JSabBO Forh@ReHIBT?
A)12 sec b) 10 sec
€) 9 sec d) 6 sec

Q. 19. A train 110 m long passes a man, running at 6
kmph in the direction opposite to that of the train, in
6 seconds. The speed of the train is:

110 e V83 3 ;0 d)doa%aidg( TordhaeerH33, 6’608
c,'f)d.xziQ 83,30 roedr! 6 3de VenBdY 6 JIZoWDNRYY
BODBA. 3,0 Sert BoDHBAO

a) 54 kmph
¢) 66 kmph

b) 60 kmph
d) 72 kmph

Q.20. Two trains with different lengths, one is 137
meters and  second is 163 meters are running
towards each other. The speeds are also different
that is one with a speed of 42 kmph and second is 48
kmph. In what time that two trains have crossed
each other.

DT BVBE VW TFynw, 2008 137 cbeesct 2R
QBBIDD 163 cbeeso WD ST 3 BODAES. Sertdy
3B DI PNG, @ 42 kmph Serideodrt &)
o8BI 48 kmph AT, 0dred JSHoHBO TR

B;oniwd B3 woedss.
A)12 sec b) 10 sec
c) 9 sec d) 8 sec

Q. 21. Two goods train each 500 m long, are running
in opposite direction on parallel tracks their speeds
are 45 kmph and 30 kmph respectively. Find the
time taken by the slower train to pass the driver of
the faster are

23 500 e VZE T JFTB Tenriwd Jedromeo3s
59 5MYY Iy BIIO WBODTS, eInv Jer
Zhao 45 e DR 30 dche. Send WPOBIIY,

Pa
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TIDBRLNL)  APINDIT déw dﬁcba/a'ui%d

ISRy, BoDLBAD
A)52 sec b) 48 sec
€)42 sec d) 8 sec

Q.22. Two trains with different lengths, one is 137
meters and second is 163 meters are running
towards each other. The speeds are also different
that is one with a speed of 42 kmph and second is 48
kmph. In what time that two trains have crossed
each other

DT, GVZB DT Tenriwd, 2,0 137 Deesct® DR
QTBIhD 163 cbeestnivh S0 3 BODES. Send
3B PIF@oNd, wwd 42 kmph Serideodrt SR
Q0BI0DD 48 kmph sAT. aired BDHoHBO 2T

B eorisd S0 0 weedds
A)12.5sec  b)13.5sec
c) 12 sec d) 13 sec

Q.23. Two trains 100 m and 120 m long are running
in the same direction with speeds of 72 kmph and 54
kmph. In how much time will the first train cross the
second?

100 e @) 120 e HVZB T Tyenrisd 72 de
B 54 3cbe SenwO wode B3I BODES. ST
By o), FSDBO BBIDBY, ToenBE?

A) 32sec
c) 42 sec

Moderate Level

Q. 1. A train travelling at 80 km/hr goes through a
tunnel 1500 m long. How long a passenger travelling
by the train is inside the tunnel?

roe3rt 80 3be deridém 2303 déo.) 1500 e Cilaia)
DBond Rwewd @eerH33. déef)wef)n B,035063D S

30352380 @Bonde ¥t o) Ishab |thSeT?
a) 69.5 sec b) 67.5 sec

b) 40 sec
d) 44 sec

c) 58.5 sec d) 79.5 sec

Q.2. With a speed of 60 km/hr a train crosses a pole
in 30 sec. What is the length of the train ?

roedrf 60 3e SenB Syen 30 FZoRDAYO TSI,
Doe33. B3O vy ad),?

a) 500 m b) 600 m
c)450m d) 870 m

Q. 3. Two trains of length 450 m and 350 m
respectively travel with uniform speeds in parallel
lines from opposite directions. If they cross each
other in 1 minute and speed of one train be 30
km/hr. Find the speed of second train?

ZebaveN 450 cbe &) 350 e LVZB AT Byriwd
QDG B, NP0T IReR203T TeslnvY ©3TRBT
Sendd BODBS. SDH 1 ADIBO SV T G363
DR 20w GO Serd rtoedrt 30 3.cve. OTERe T;O

BenSJ), BoBAMO
a) 20 km/hr b) 24 km/hr
¢) 30 km/hr d) 18 km/hr

Q. 4. Two trains starts at the same time from two
stations X and Y, 900 kilometres apart and proceed
towards each other at an average speed of 38 and 22
km/hr respectively. How long will it take for the two
trains to meet?

Q0@ BN wode JDHabdd X DB Y odmd
QutniYord 900  3dedeechetsoNY  ©03TBO
TyBoP@rbdad DD FabweN 38 @) 22 km/hr
Bensd B0 0 BODBS. 2T Fenrisd LJeedadrorien

aR), Iod SRDHBRRSE?
a) 10 hours b) 15 hours
c) 18 hours d) 22 hours

Pa
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Q. 5. A train passes a station platform in 36 seconds
and a man standing on the platform in 20 seconds. If
the speed of the train is 54 km/hr, find the length of
the platform?

o"éoo &’)mosad DIEF GO eaaig( 36 w—’éod)rivéef)m
DD TBRDHBE D) HEFFIR RO 03B B3 20
JBobnvd. GO Fert roedri 54 dche sATT,
DI PO ES emdodaig( B0 &BAO?

a) 320 m b) 180 m

c) 240 m d) 90 m

Q. 6. A train running at 48 km/hr crosses a telegraph
postin 15 seconds. Find the time it will take to cross
a bridge 240 m long?

noedrt 48 dcbe Senwd BODS By 15 JBowrivd
HOME e, o) woen3d. 240 e evgdd
JeDBob, Doww  BDBRE  IDoDTY,

B0R&AANO?

a) 33 sec
c) 40 sec

b) 26 sec
d) 15 sec

Q. 7. Two trains moving in the same direction at 65
km/hr and 45 km/hr. The faster train crosses the
man in slower train in 18 seconds. Find the length of
the faster train?

OB Byenniwd worde B33 65 dche / Ro SR 45
dcbe / Ro. Send Syen 18 FZoRDRYS s S;039
DDBRD, Doy, Fend GO evgSJY,
B0 HLBAD.

a) 80 m
c) 100 m

b) 150 m
d) 130 m

Q. 8. A train passes a platform 60 meters long in 20
seconds and a man standing on the platform in 12
seconds. Find the speed of the train in km/hr?

déw 60 ee3os oVZT DL PofE esaig( 20
JB0RNYY T BRENHBT DR DF PR IO
Q033 dzsé 12 IJ3odnvd Hordh@eerHST.

3bemtoriodd) S0 SenSRy BoRHLAD

a) 19 km/hr b) 27 km/hr
¢) 24 km/hr d) 35 km/hr

PRACTICE EXERCISE

1. A train crosses a platform 100 m long in 60
seconds at a speed of 45 km/hr. The time taken by
the train to cross an electric pole is

déw 100 e VBT DeFHoRE waig( 60 JIZoBrivd
noddrt 45 3cbe TFendd woedBW. Tyen JIBTF

BoWBRY, WL BB JHob B0t RO

b) 52 sec
d) 44 sec

a) 8 sec
¢) 1 minute

2. A train 150 m long is running at the speed of 90
km/hr. Time taken by the train to pass through a
tree is

150 che evga Syen Roedrt 90 3e Bendd BODIT.
déw OB [UB TBREND 3ri‘doarasig)d Jad
BoRHBNO

a) 3 sec
c) 6 sec

b) 4 sec
d) 8 sec

3. A train passes over a bridge of length 200 m in 40
seconds. If the speed of the train is 81 km per hour,
its length is

Byen 200 cbe evgdd Jeabaad et 40 IZorivd

Bodh@perbE8d. 3,03 deni roddrt 81 3.Qve sNIT,

o33 v BowDHBAND
a) 900 m b) 1800 m
c) 700 m d) 600 m

Pa
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4. A train 150 m long takes 20 seconds to cross a
platform 50 metre long. The speed of train is

150 e Cilala) déw 50 ee3o® VUG8 DEFHISIE
oY Do 20 JBoRNYRY SrDHZRRIT. J;08

Zen 30D &HBAO

a) 36 km/hr
c) 76 km/hr

b) 42 km/hr
d) 108 km/hr

5. 150 metres long train crosses a bridge of length
250 metres in 30 seconds. The time for train to cross
a platform of 130 metres is

150 cbeeso® evmd® Ty 250 et evgdd
JeDBabRY, 30 JBoRDYY weend8dW. Tyen 130
eE30’ DIEF PR Dot FeHod B0 SHBAO

a) 18 sec b) 21 sec

c) 24 sec d) 27 sec

6. A train 100 meters long is running at the speed of
65 km/hr. Time taken by the train to'pass through a
man walking at the rate of 5 km/hr moving in the
direction of the train is

100 cbeeso® evgd Yyen roedrf 65 dcbe Beridd
BODBT. B,0= B3O BODS 5 Scbe/mnioed Serad
DIBRD, Borh@eenw Sy SrDHBPWE Jebad
80D HBAO

a) 8 sec
c) 4 sec

b) 6 sec
d) 2 sec

7.Atrain 100 meters long is running at the rate of 55
km/hr. Time taken by the train to pass through a
man walking at the rate of 5 km/hr moving in
opposite direction is

100 cheest evgd TSyen noedrt 55 e Herndd
BODI3. JDG B33 BODS 5 dberioed Serd
SBanE DR Borh@eenww S;en SrwhBeRS
Jad o@D HLBAO

a) 10 sec
c) 6 sec

b) 8 sec
d) 4 sec

8. A train travelling at a speed of 90 km/hr, crosses a
pole in 10 seconds. The length of the train is

rloedrt 90 3de Seridd WOWS Byen, 10 IS0V

BB, TN, B;0R evg BoRHAD

a) 250 m b) 150 m
€) 190 m d) 100 m

9. A train takes 18 seconds to pass completely
through a station 162 m long and 15 seconds
through another station 120 m long. The length of
the train is

2001 déw 162 e ilala) ‘Dugsad s
ToDdeenewy 18 a’éod)ri%iag
BrdhBeW3T D) 120 e eVBE B 0w AU

Sew8 15 FZoRNW. B0 v BowEHBA

a) 70 m b) 80 m
€) 90 m d) 100 m

JoRpecoN

10. A train passes.a 50 m long platformin 14 seconds
and a man standing on the platform in 10 seconds.
The speed of train is

déw 50 cbe euda SeeFHRFE o, 14 JZ0BDNRYY
BDBRHIE DR DEFFoTF IO Jo3DA F3 10

JBonYe Hoth@eerhZ3. B0 Sert BowHBAO

a) 24 km/hr b) 36 km/hr
¢) 40 km/hr d) 45 km/hr

11. An express train travelling at 80 km/hr overtake
a goods trains, twice as long and going at 40 km/hr
on a parallel track in 54 seconds. How long will the
express train to cross a station 400 m long?

roedrf 80 3.che BB BODS oFF B, Byen MR,
S,nd), 0B, oD Ben, evd DR 54

JBodDvY ISemeodd &5y 5°FY noddri 40 3cbe
Pa
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SenBO Beerd3d. 400 e HVEE AUYBI, Dot
o8 B)3° By o), Ihod SRDHBRR,BE?

a) 36 sec b) 45 sec
c) 27 sec d) 32 sec

12. Two trains of length 150 m and 120 m are
travelling at the rate of 75 km/hr and 45 km/hr
respectively. Time taken by the trains to cross each
other if they travel in the same direction is

150 <be R 120 cbe evZad B Byenriwd Zbavon
75 dcbe / rto I 45 e / o BT B)adreedD S,
B N wode B3O B)00e3dB3 BTIT wotsew

BRHBRWSE JHab Sow&EAD
a) 25 sec b) 28.4 sec
c) 8.1 sec d) 32.4 sec

13. Two trains of length 150 m and 120 m are
travelling at the rate of 75 km/hr and 45 km/hr
respectively. Time taken by the trains to cross each
other if they travel in opposite direction is

150 e &) 120 che BVZE aTE Byennwh Gehaven
75 3cbe / o SR 45 3che / o BOBO B,0dreedD .
DG B3RO B,05e8dBT Fyennwd SVYT woesew

BrchEpW,a Jshab BowHBAD
a) 5 sec b) 8.1 sec
c) 28.4 sec d) 32.4 sec

14. Local trains leave from a station at an interval 15
minutes at a speed of 16 km/hr. A man moving from
opposite side meets the trains at an interval of 12
minutes. The speed of the man is

JPead Byeoriwd 16 dcbero Sendd 15 Ay
D308V AeED0B BRTRDIH. W Peridod
BODB B3 12 AdAIAY D030 Tenn v,

Jeedadrorh@os. DS Zen 3o HBAO
a) 4 km/hr b) 6 km/hr

¢) 8 km/hr d) 10 km/hr

15. A train running at a speed of 52 km/hr takes 15
seconds to pass a man running at 4 km/hr in the
same direction. The length of the train is

noedrt 52 3cbe deﬁdg 303 déw e aeémg 4
3ce / ro Sende Lwa ai)d)aiédﬁg( Td@eenien 15

BBV, SrchBRRN,BT. §;0R evg o RO

a) 100 m b) 150 m
€) 200 m d) 250 m

16. Two trains travel in opposite direction at 36
km/hr and 45 km/hr and a man sitting in slower
train passes the faster train in 8 seconds. The length
of the faster train is

a0E Syoried IDY BIRO 36 3de / Ho BB 45
3be 1 rio BB VOIS DB AFIRTB T;O39
293 S0 8 IEoWNYO Bernd B o, T

BReHEZIN. Bend S;08 vyl BodhedBAD

a) 80 m b) 100 m
c) 120 m d) 180 m

17. A train travelling with a constant speed crosses a
96 m long platform in 12 seconds and another 141
m long platform in 15 seconds. The length of the
train is

00383 Bendd BODS déu) 96 cbe VT
DEFHoRE O, 12 JBownvY ) w:e0wd 141
e VBT TP esaig( 15 JB80dDnRYY ween 3.

8,0 vy BoWHBAD
a) 80 m 'b) 64 m
€) 84 m d) 90 m

18. Two trains are running at 40 km/hr and 20
km/hr respectively in the same direction. Fast train
completely passes a man sitting in the slow train in
5 seconds. The length of the fast train is

Pa
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Mathematics

QT Fyenniwd wode B3I FabaoN 40 e / o
D) 20 3cbe / Mo Bend BODIS. Send Syew 5
JBoDYY  Ape’d GO0 BRI FBab
JoRpermoN ThBeHIB. Iend déebas oug
8o HAADO
a) 232 m b) 27 m

7

c) 27gm d)23m

19. A train passes by a stationary man standing on
the platform in 7 seconds and passes by the platform
completely in 28 seconds. If the length of the
platform is 330 metres, the length of the train is

mﬂa‘mds‘mé)ﬂ Q08D Ao dzsécﬁo AVOISL. déw 7
JB0BNYY B @ReHBW DB 28 IJBoRRVO
JoRprrmen DtFpodfr Dwewd To@EeHST.
DeFpoddfes evg 330 c;’beaso‘riwﬁdod, dée.“)s oug

8o HBAO

a) 130 m b) 125 m
c)120m d) 110 m

20. A train is running at 120 km/hr and is 250 m
long. How long will it take to pass a goods train 350
m long and running on a parallel track at 30 km/hr
in the same direction?

208 Byen rtoedrt 120 dcbe Sendd BODIB DIy
250 cbe evgddd. 350 e eudB MR To,
Tod@Eeenw D) wde B[O 30 ddberodnt
JIPome030 3 EWY  WIBw o),  IShad
BrichBe)33?

a) 24 sec b) 26 sec
c) 20 sec d) 18 sec
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